Word Sudoku

composed by “WH?” for you-know-who’s 60th birthday
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Instructions: Solve the crossword-like clues and write them
into the grid, starting at the designated number and going
in the direction stated. Then solve as you would a sudoku.

First name of the birthday boy (4 letters)

The birthday boy isa ____ a minute (4 letters)

The birthday boy __ the most famous puzzler (2 letters)
The birthday boy is ____ of the ACPT (4 letters)

The birthday boy is a ____ at puzzles (slang, 3 letters)
Last name of the birthday boy (6 letters)
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